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The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Answer all questions

1. Consider the following linear model.
yi = p+op +B +g
Yo =+ +By 485
y3 =p+og +P +ey
Y4 =pH+0y +P; +ey
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(2)

Ys =p+oz+B+es
Yo =n+az+Py g
(® When is

A+ A0 + A0 +Ag03 +AaB; + sy
estimable ? @

(@) Is {0y +0y) estimable ? )

(iii) Obtain the BLUE of (B; —B,) if it is estimable.

@)
(iv) Obtain any linear function of observations
belonging to the error space. 3}

2. A trucking company wishes to test the average life
of each of the four brands of tyres. The company
uses all brands on randomly selected trucks. The lives

(thousands of miles) of tyres are shown in the table
given below :

Brandl Brand2 Brand3 Brand 4

20 15 19 15
23 19 20 17
17 17 21 18
18 20 16 16

16 17
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(3)
Check whether there is any significant difference
between the average lives of the four brands of

tyres. : (N
Laboratory Note Book. 2)
Viva-voce. 3)



